AA - Section 3.1 - Inequalities and Their Graphs

Objective: To write, graph, and identify solution of inequalities.
Less than £, Less than or equalto 4.
Greater than 7 Creater than or equalto >
Wiriting Inequalities - Write an inequality to represent the verbal expression.
1. ‘oII real numbers x greater than or équcﬂ to 1.5 X215
2. The sum of x and 7 is less than — 3. X+T7< -2
3. 5less than a number x is greater than or equal to 13 X-52 13
4. all real numbers less than 10 X<10

Vocabulary:A solution of an inequadlity is any number than makes the inequality true.

Identifying Solutions by Evaluating - Substitute the value in for x. Does it make the
inequality true?e

Is the number a solution to 3x + 4 > 102 a. 0] Nol b. 3
30)+Y 710 3(3)+Y4 >10
044710 q +4 >ID
5. Which numbers are solutions of 13 -7y < 6 2 1210 ko aia
a. -1 [nO b. 0 Wol < 1@@3
13-7(-N) 2 o 13-7(0) 2 v \3-7(NLle 12-7(D e
1274y '3 -0 L\, 2-720 \3-21 £ 1
A0 £ L \3 L1y W02 (, -84l
Graphing Inequalities — when graphing, you must show me where zero is and count out to your humber
> or < open circle (does not include this exact value as a solution)
> or < closed circle (does include this exact value as @ solution)
6. x<1 7. X>=2
Attt e
B-T-b-5-H-3-2-1 012 -2°t0 1 22 us8 18
8. x= 0 9. x< 4
e

“1 B v 28 45 1 g 9q -4°3-1 -1t D112 345y



“T-0-54-3-2-1 01 2 3 4 -2-2-1 0 + 23 4 5 LT
You fry:

12. x>-4 13. -12 X Xx<-|

<D adasastiabocrr i P—> D . o NSRS
“H=T3=Z-1 0 ¥+ Z 3 45 ;' -¢"S -4 -3-2-1 01+ 23

Write an inequality that represents the graph.

14, G ——— —+ g X772

6. T ————t+—+— X <40

16. Gty ———> X< -2

17. bttt gvtads X >

18. <+t rutrat» o
« -2 0 2z 4 b 7

In words, how do you describe the graph on #18¢
All real numbers greakr thon ||

A speed limit sign says 45 mph. The sign indicates x < 45, where x represents a legal speed
in miles per hour. Can the speed be all real numbers less than or equal to 452 Explain.

No, the speed coxnek e all Vﬁ_&\ numboers lese Hhan or equal
o 4D Decauvse You cannet go kess than  zavo mikes
per hour.




